

ON THE r -INTEGRALS INVOLVING THE I -FUNCTIONS OF SEVERAL VARIABLES

M. SUNITHA¹, P. C. SREENIVAS² AND T. M. VASUDEVAN NAMBISAN³

¹ Department of Mathematics, Govt. Brennen College,
Dharmadam, Thalassery Kannur Dist., Kerala -670106, India

² Department of Mathematics, Payyanur College,
Payyanur, Kannur Dist, Kerala- 670327, India

³ Retired Professor and Head, Department of Mathematics,
NAS College, Kanhangad, India.

Abstract

The object of this paper is to obtain the r -integrals involving the I -functions of several variables. On specializing the parameters similar results can be derived in the case of I -functions of two variables and H functions of r and two-variables which include the result proved by Prasanth and Nambisan [2, p.102].

1. Introduction

Notations used:

${}_1(a_j; \alpha_j, A_j)_p$ stands for $(a_1; \alpha_1, A_1), (a_2; \alpha_2, A_2), \dots, (a_p; \alpha_p, A_p)$.

The generalized Fox's H-function, namely I -function of r -variables introduced by Prathima, Nambisan and Santha Kumari [3, p.38] is defined and represented in the following manner:

Key Words : I -function of two and several complex variables, Multivariable H-functions.

2000 AMS Subject Classification : 45 A 05.

$$\begin{aligned}
I[z_1, \dots, z_r] &= I_{P,Q;p_1,q_1;\dots;p_r,q_r}^{0,N;m_1,n_1;\dots;m_r,n_r} \\
&\left[\begin{array}{l} z_1 \\ \vdots \\ z_r \end{array} \left| \begin{array}{l} {}_1(a_j; \alpha_j^{(1)}, \dots, \alpha_j^{(r)}; A_j)_P : {}_1(c_j^{(1)}, \gamma_j^{(1)}; C_j^{(1)})_{p_1}; \dots; {}_1(c_j^{(r)}, \gamma_j^{(r)}; C_j^{(r)})_{p_r} \\ {}_1(b_j; \beta_j^{(1)}, \dots, \beta_j^{(r)}; B_j)_Q : {}_1(d_j^{(1)}, \delta_j^{(1)}; D_j^{(1)})_{q_1}; \dots; {}_1(d_j^{(r)}, \delta_j^{(r)}; D_j^{(r)})_{q_r} \end{array} \right. \right] \\
&= \frac{1}{(2\pi\omega)^r} \int_{L_1} \dots \int_{L_r} \theta_1(s_1) \dots \theta_r(s_r) \phi(s_1, \dots, s_r) z_1^{s_1} \dots z_r s^r ds_1 \dots ds_r, \quad (1.1)
\end{aligned}$$

where $\phi(s_1, \dots, s_r)$ and $\theta_i(s_i), i = 1, 2, \dots, r$ are given by

$$\phi(s_1, \dots, s_r) = \frac{\prod_{j=1}^N \Gamma^{A_j} \left(1 - a_j + \sum_{i=1}^r \alpha_j^{(i)} s_i \right)}{\prod_{j=1}^Q \Gamma^{B_j} \left(1 - b_j + \sum_{i=1}^r \beta_j^{(i)} s_i \right) \prod_{j=N+1}^P \Gamma^{A_j} \left(a_j - \sum_{i=1}^r \alpha_j^{(i)} s_i \right)}, \quad (1.2)$$

$$\theta_i(s_i) = \frac{\prod_{j=1}^{m_i} \Gamma^{D_j^{(i)}} (d_j^{(i)} - \delta_j^{(i)} s_i) \prod_{j=1}^{n_i} \Gamma^{C_j^{(i)}} (1 - c_j^{(i)} + \gamma_j^{(i)} s_i)}{\prod_{j=m_i+1}^{q_i} \Gamma^{D_j^{(i)}} (1 - d_j^{(i)} + \delta_j^{(i)} s_i) \prod_{j=n_i+1}^{p_r} \Gamma^{C_j^{(i)}} (c_j^{(i)} - \gamma_j^{(i)} s_i)}. \quad (1.3)$$

Also $z_i \neq 0$ ($i = 1, \dots, r$), $\omega = \sqrt{-1}$, m_j, n_j, p_j, q_j ($j = 1, \dots, r$), N, P, Q are non-negative integers such that $0 \leq N \leq P$, $Q \geq 0$, $0 \leq m_j \leq q_j$, $0 \leq n_j \leq p_j$ ($j = 1, 2, \dots, r$) (not all zero simultaneously). $\alpha_j^{(i)}$ ($j = 1, 2, \dots, P, i = 1, 2, \dots, r$), $\beta_j^{(i)}$ ($j = 1, 2, \dots, Q, i = 1, 2, \dots, r$), $\gamma_j^{(i)}$ ($j = 1, 2, \dots, p_i, i = 1, 2, \dots, r$) and $\delta_j^{(i)}$ ($j = 1, 2, \dots, q_i, i = 1, 2, \dots, r$) are positive numbers. a_j ($j = 1, 2, \dots, P$), b_j ($j = 1, 2, \dots, Q$), $c_j^{(i)}$ ($j = 1, 2, \dots, p_i, i = 1, 2, \dots, r$) and $d_j^{(i)}$ ($j = 1, 2, \dots, q_i, i = 1, 2, \dots, r$) are complex numbers.

The exponents A_j ($j = 1, 2, \dots, P$), B_j ($j = 1, 2, \dots, Q$), $C_j^{(i)}$ ($j = 1, 2, \dots, p_i, i = 1, 2, \dots, r$) and $D_j^{(i)}$ ($j = 1, 2, \dots, q_i, i = 1, 2, \dots, r$) of various gamma functions may take integer values. The I -function of r -variables is analytic if

$$\Psi_i = \sum_{j=1}^P A_j \alpha_j^{(i)} - \sum_{j=1}^Q B_j \beta_j^{(i)} + \sum_{j=1}^{p_i} C_j^{(i)} \gamma_j^{(i)} - \sum_{j=1}^{q_i} D_j^{(i)} \delta_j^{(i)} \leq 0, i = 1, 2, \dots, r.$$

The integral (1.1) converges absolutely if $|\arg(z_i)| < \frac{1}{2}\pi \Delta_i, i = 1, 2, \dots, r$ where

$$\Delta_i = - \sum_{j=N+1}^P A_j \alpha_j^{(i)} - \sum_{j=1}^Q B_j \beta_j^{(i)} + \sum_{j=1}^{m_i} D_j^{(i)} \delta_j^{(i)} - \sum_{j=m_i+1}^{q_i} D_j^{(i)} \delta_j^{(i)}$$

$$+ \sum_{j=1}^{n_i} C_j^{(i)} \gamma_j^{(i)} - \sum_{j=n_i+1}^{p_i} C_j^{(i)} \gamma_j^{(i)} > 0. \quad (1.4)$$

The \bar{I} - function of r -variables is defined and represented in the following manner:

$$\begin{aligned} \bar{I}[z_1, \dots, z_r] &= I_{P,Q;p_1,q_1;\dots;p_r,q_r}^{0,N;m_1,n_1;\dots;m_r,n_r} \\ &\left[\begin{array}{l} z_1 \\ \vdots \\ z_r \end{array} \left| \begin{array}{l} {}_1(a_j; \alpha_j^{(1)}, \dots, \alpha_j^{(r)}; A_j)_P : {}_1(c_j^{(1)}, \gamma_j^{(1)}; C_j^{(1)})_{p_1}; \dots; {}_1(c_j^{(r)}, \gamma_j^{(r)}; C_j^{(r)})_{p_r} \\ {}_1(b_j; \beta_j^{(1)}, \dots, \beta_j^{(r)}; B_j)_Q : {}_1(d_j^{(1)}, \delta_j^{(1)}; 1)_{m_1}; \dots; {}_{m_1+1}(d_j^{(1)}, \delta_j^{(1)}; D_j^{(1)})_{q_1} \\ \dots; {}_1(d_j^{(r)}, \delta_j^{(r)}; 1)_{m_r}; \dots; {}_{m_r+1}(d_j^{(r)}, \delta_j^{(r)}; D_j^{(r)})_{q_r} \end{array} \right. \end{array} \right] \\ &= \frac{1}{(2\pi\omega)^r} \int_{L_1} \dots \int_{L_r} \bar{\theta}_1(s_1) \dots \bar{\theta}_r(s_r) \phi(s_1, \dots, s_r) z_1^{s_1} \dots z_r^{s_r} ds_1 \dots ds_r, \quad (1.5) \end{aligned}$$

where

$$\bar{\theta}_i(s_i) = \frac{\prod_{j=1}^{m_i} \Gamma(d_j^{(i)} - \delta_j^{(i)} s_i) \prod_{j=1}^{n_i} \Gamma^{C_j^{(i)}}(1 - c_j^{(i)} + \gamma_j^{(i)} s_i)}{\prod_{j=m_i+1}^{q_i} \Gamma^{D_j^{(i)}}(1 - d_j^{(i)} + \delta_j^{(i)} s_i) \prod_{j=n_i+1}^{p_i} \Gamma^{C_j^{(i)}}(c_j^{(i)} - \gamma_j^{(i)} s_i)}.$$

The integral converges absolutely of $|arg(z_i)| < \frac{1}{2}\pi\Delta'_i, i = 1, 2, \dots, r$ where

$$\Delta'_i = - \sum_{j=N+1}^P A_j \alpha_j^{(i)} - \sum_{j=1}^Q B_j \beta_j^{(i)} + \sum_{j=1}^{m_i} \delta_j^{(i)} - \sum_{j=m_i+1}^{q_i} D_j^{(i)} \delta_j^{(i)} + \sum_{j=1}^{n_i} C_j^{(i)} \gamma_j^{(i)} - \sum_{j=n_i+1}^{p_i} C_j^{(i)} \gamma_j^{(i)} \geq 0$$

$$f(p) = f(t) = f(p) = p \int_0^\infty e^{-pt} f(t) dt \quad (1.6)$$

provided the integral is convergent and $Re(p) > 0$.

$$\int_0^\infty e^{-pt} t^{x-1} dt = \frac{\Gamma(x)}{p^x}, \quad Re(p) > 0. \quad (1.7)$$

2. r -integrals Involving the I -functions of Several Variables

If $f(p) = f(t)$ and

$$\psi(t) = \frac{1}{a_1^{s_1} a_2^{s_2} \cdots a_r^{s_r}} t^{-s_1 - s_2 \cdots - s_r} \bar{I}_{P, Q; p_1+1, q_1; \dots; p_r+1, q_r}^{0, N; m_1, n_1+1; \dots; m_r, n_r+1}$$

$$\left[\begin{array}{c} 1/a_1 t \\ \vdots \\ 1/a_r t \end{array} \middle| \begin{array}{l} {}_1(a_j; \alpha_j^{(1)}, \dots, \alpha_j^{(r)}; A_j)_P : (1 - s_1, 1; 1), {}_1(c_j^{(1)}, \gamma_j^{(i)}; C_j^{(1)})_{p_1}; \\ \dots; (1 - s_r, 1; 1), {}_1(c_j^{(r)}, \gamma_j^{(r)}; C_j^{(r)})_{p_r} \\ {}_1(b_j; \beta_j^{(1)}, \dots, \beta_j^{(r)}; B_j)_Q : {}_1(d_j^{(1)}, \delta_j^{(1)}; 1)_{m_1}, {}_{m_i+1}(d_j^{(1)}, \delta_j^{(1)}; D_j^{(1)})_{q_1}; \\ \dots; {}_1(d_j^{(r)}, \delta_j^{(r)}; 1)_{m_r}, {}_{m_r+1}(d_j^{(r)}, \delta_j^{(r)}; D_j^{(r)})_{q_r} \end{array} \right] f(t), \quad (2.1)$$

then

$$\int_0^\infty \cdots \int_0^\infty z_1^{s_1-1} \cdots z_r^{s_r-1} \bar{I}[z_1 \cdots z_r] (a_1 z_1 + \cdots + a_r z_r + c)^{-1} f(a_1 z_1 + \cdots + a_r z_r) dz_1 \cdots dz_r$$

$$= \frac{\psi(c)}{c}. \quad (2.2)$$

Provided

$$(i) \text{Min} \left\{ \text{Re} \left(s_i + \frac{d_j^{(i)}}{\delta_j^{(i)}} \right) \right\} > 0, \quad j = 1, 2, \dots, m_i; i = 1, 2, \dots, r$$

$$(ii) |\arg(z_i)| < \frac{1}{2} \pi \Delta'_i, \quad i = 1, 2, \dots, r \text{ where}$$

$$\begin{aligned} \Delta_i &= - \sum_{j=n+1}^P A_j \alpha_j^{(i)} - \sum_{j=1}^Q B_j \beta_j^{(i)} + \sum_{j=1}^{m_i} \delta_j^{(i)} - \sum_{j=m_i+1}^{q_i} D_j^{(i)} \delta_j^{(i)} \\ &+ \sum_{j=1}^{n_i} C_j^{(i)} \gamma_j^{(i)} - \sum_{j=n_i+1}^{p_i} C_j^{(i)} \gamma_j^{(i)} > 0 \end{aligned}$$

(iii)

$$\begin{aligned} \Psi_i &= \sum_{j=1}^P A_j \alpha_j^{(i)} - \sum_{j=1}^Q B_j \beta_j^{(i)} + \sum_{j=1}^{p_i} C_j^{(i)} \gamma_j^{(i)} - \sum_{j=1}^{m_i} \delta_j^{(i)} \\ &- \sum_{j=m_i+1}^{q_i} D_j^{(i)} \delta_j^{(i)} \leq 0, \quad i = 1, 2, \dots, r. \end{aligned}$$

$$(iv) \text{Min}\{ \text{Re}(a_1), \text{Re}(a_2), \dots, \text{Re}(a_r), \text{Re}(c) \} > 0.$$

Proof :

$$\begin{aligned}
LHS &= \int_0^\infty \cdots \int_0^\infty z_1^{s_1-1} \cdots z_r^{s_r-1} \bar{I}[z_1 \cdots z_r] (a_1 z_1 + \cdots + a_r z_r + c)^{-1} \\
&\quad f(a_1 z_1 + \cdots + a_r z_r + c) dz_1 \cdots dz_r \\
&= \int_0^\infty \cdots \int_0^\infty z_1^{s_1-1} \cdots z_r^{s_r-1} \left\{ \left(\frac{1}{2\pi i} \right)^r \int_{L_1} \cdots \int_{L_r} \bar{\theta}_1(\lambda_1) \cdots \bar{\theta}_r(\lambda_r) \right. \\
&\quad \left. \phi(\lambda_1, \cdots, \lambda_r) z_1^{\lambda_1} \cdots z_r^{\lambda_r} d\lambda_1 \cdots d\lambda_r \right\} \\
&\quad \left\{ \int_0^\infty e^{-(a_1 z_1 + \cdots + a_r z_r + c)t} f(t) dt \right\} dz_1 \cdots dz_r.
\end{aligned}$$

Now changing the order of integration, which is justified under the given conditions, and evaluating the inner integral, LHS is

$$\begin{aligned}
&= \int_0^\infty e^{-ct} \left\{ \left(\frac{1}{2\pi i} \right)^r \int_{L_r} \cdots \int_{L_1} \bar{\theta}_1(\lambda_1) \cdots \bar{\theta}_r(\lambda_r) \phi(\lambda_1, \cdots, \lambda_r) \right. \\
&\quad \left. \left[\int_0^\infty \cdots \int_0^\infty z_1^{\lambda_1+s_1-1} \cdots z_r^{\lambda_r+s_r-1} e^{-(a_1 z_1 + \cdots + a_r z_r)t} dz_1 \cdots dz_r \right] d\lambda_1 \cdots d\lambda_r \right\} f(t) dt \\
&= \int_0^\infty e^{-ct} \left\{ \left(\frac{1}{2\pi i} \right)^r \int_{L_1} \cdots \int_{L_r} \bar{\theta}_1(\lambda_1) \cdots \bar{\theta}_r(\lambda_r) \phi(\lambda_1, \cdots, \lambda_r) \right. \\
&\quad \left. \left[\frac{\Gamma(\lambda_1 + s_1)}{(a_1 t)^{\lambda_1 + s_1}} \cdots \frac{\Gamma(\lambda_r + s_r)}{(a_r t)^{\lambda_r + s_r}} \right] d\lambda_1 \cdots d\lambda_r \right\} f(t) dt \\
&= \int_0^\infty e^{-ct} \left\{ \left(\frac{1}{2\pi i} \right)^r \int_{L_1} \cdots \int_{L_r} \bar{\theta}_1(\lambda_1) \cdots \bar{\theta}_r(\lambda_r) \phi(\lambda_1, \cdots, \lambda_r) \Gamma(\lambda_1 + s_1) \cdots \Gamma(\lambda_r + s_r) \right. \\
&\quad \left. \left(\frac{1}{a_1 t} \right)^{\lambda_1} \cdots \left(\frac{1}{a_r t} \right)^{\lambda_r} d\lambda_1 \cdots d\lambda_r \right\} \left(\frac{1}{a_1 t} \right)^{s_1} \cdots \left(\frac{1}{a_r t} \right)^{s_r} f(t) dt \\
&= \int_0^\infty e^{-ct} \psi(t) dt, \quad \text{on using (1.5), (1.7) and (2.1)} \\
&= \frac{\psi(c)}{c}, \quad \text{on using (1.6)}.
\end{aligned}$$

Special Cases

1. Taking $r = 2$, the result reduces to the double integral involving I -function of 2 variables.

If $f(p) = f(t)$ and

$$\psi(t) = \frac{1}{a_1^{s_1} a_2^{s_2}} t^{-s_1-s_2} \bar{I}_{P,Q;p_1+1,q_1;p_2+1,q_2}^{0,N;m_1,n_1+1;m_2,n_2+1}$$

$$\left[\begin{array}{l} 1/a_1 t \\ 1/a_2 t \end{array} \left| \begin{array}{l} {}_1(a_j; \alpha_j^{(1)}, \alpha_j^{(2)}; A_j)_P : (1-s_1, 1; 1), {}_1(c_j^{(1)}, \gamma_j^{(1)}; C_j^{(1)})_{p_1}; \\ (1-s_2, 1), {}_1(c_j^{(2)}, \gamma_j^{(2)}; C_j^{(2)})_{p_2} \\ {}_1(b_j; \beta_j^{(1)}, \beta_j^{(2)}; B_j)_Q : {}_1(d_j^{(1)}, \delta_j^{(1)}; D_j^{(1)})_{q_1}; {}_1(d_j^{(2)}, \delta_j^{(2)}; D_j^{(2)})_{q_2} \end{array} \right. \right] f(t),$$

then

$$\int_0^\infty \int_0^\infty z_1^{s_1-1} z_2^{s_2-1} \bar{I}[z_1 \cdots z_2] (a_1 z_1 + a_2 z_2 + c)^{-1} \phi(a_1 z_1 + a_2 z_2 + c) dz_1 dz_2$$

$$= \frac{\psi(c)}{c}. \quad (2.3)$$

Provided

$$\text{Min} \left\{ \text{Re} \left(s_i + \frac{d_j^{(i)}}{\delta_j^{(i)}} \right) \right\} > 0, \quad j = 1, 2, \dots, m_i; i = 1, 2$$

$|\arg(z_i)| < \frac{1}{2}\pi\Delta'_i, i = 1, 2$, where

$$\Delta'_i = - \sum_{j=n+1}^P A_j \alpha_j^{(i)} - \sum_{j=1}^Q B_j \beta_j^{(i)} + \sum_{j=1}^{m_i} \delta_j^{(i)} - \sum_{j=m_i+1}^{q_i} D_j^{(i)} \delta_j^{(i)}$$

$$+ \sum_{j=1}^{n_i} C_j^{(i)} \gamma_j^{(i)} - \sum_{j=n_i+1}^{p_i} C_j^{(i)} \gamma_j^{(i)} > 0.$$

$$\Psi_i = \sum_{j=1}^P A_j \alpha_j^{(i)} - \sum_{j=1}^Q B_j \beta_j^{(i)} + \sum_{j=1}^{p_i} C_j^{(i)} \gamma_j^{(i)} - \sum_{j=1}^{m_i} \delta_j^{(i)}$$

$$- \sum_{j=m_i+1}^{q_i} D_j^{(i)} \delta_j^{(i)} \leq 0, i = 1, 2.$$

$\text{Min}\{Re(a_1), Re(a_2), Re(c)\} > 0$.

2. When all the exponents are equal to unity, (2.2) reduces to the r -integrals involving the H -functions of several variables given by Prasanth and Nambisan [2,p-102].

If $f(p) = f(t)$ and

$$\psi(t) = \frac{1}{a_1^{s_1} a_2^{s_2} \dots a_r^{s_r}} t^{-s_1-s_2-s_3} H_{P,Q}^{0,N:m_1;\dots;m_r,n_r+1}$$

$$\left[\begin{array}{l} 1/a_1 t \\ \vdots \\ 1/a_r t \end{array} \left| \begin{array}{l} {}_1(a_j; \alpha_j^{(1)}, \dots, \alpha_j^{(r)})_P : (1-s_1, 1), {}_1(c_j^{(1)}, \gamma_j^{(1)})_{p_1}; \\ \dots, (1-s_r, 1), {}_1(c_j^{(r)}, \gamma_j^{(r)})_{p_r} \\ {}_1(b_j; \beta_j^{(1)}, \dots, \beta_j^{(r)})_Q : {}_1(d_j^{(1)}, \delta_j^{(1)})_{q_1}; \dots; {}_1(d_j^{(r)}, \delta_j^{(r)})_{q_r} \end{array} \right. \right] f(t),$$

then

$$\int_0^\infty \dots \int_0^\infty z_1^{s_1-1} \dots z_r^{s_r-1} H[z_1 \dots z_r] (a_1 z_1 + \dots + a_r z_r + c)^{-1} \phi(a_1 z_1 + \dots + a_r z_r + c) dz_1 \dots dz_r$$

$$= \frac{\psi(c)}{c}. \quad (2.4)$$

Provided

$$\text{Min} \left\{ \text{Re} \left(s_i + \frac{d_j^{(i)}}{\delta_j^{(i)}} \right) \right\} > 0, \quad j = 1, 2, \dots, m_i; i = 1, 2, \dots, r$$

$|\arg(z_i)| < \frac{1}{2}\pi\Delta'_i, i = 1, 2, \dots, r$ where

$$\Delta_i = - \sum_{j=n+1}^P \alpha_j^{(i)} - \sum_{j=1}^Q \beta_j^{(i)} + \sum_{j=1}^{m_i} \delta_j^{(i)} - \sum_{j=m_i+1}^{q_i} \delta_j^{(i)} + \sum_{j=1}^{n_i} \gamma_j^{(i)} - \sum_{j=n_i+1}^{p_i} \gamma_j^{(i)} > 0.$$

$$\Psi_i = \sum_{j=1}^P \alpha_j^{(i)} - \sum_{j=1}^Q \beta_j^{(i)} + \sum_{j=1}^{p_i} \gamma_j^{(i)} - \sum_{j=1}^{m_i} \delta_j^{(i)} \leq 0, i = 1, 2, \dots, r.$$

$\text{Min}\{Re(a_1), Re(a_2), \dots, Re(a_r), Re(c)\} > 0.$

3. When $r = 2$, (2.4) reduces to corresponding result for H function of 2 variables.

If $f(p) = f(t)$ and

$$\psi(t) = \frac{1}{a_1^{s_1} a_2^{s_2}} t^{-s_1-s_2} H_{P,Q}^{0,N:m_1,n_1+1;m_2,n_2+1}$$

$$\left[\begin{array}{l} 1/a_1 t \\ \vdots \\ 1/a_2 t \end{array} \left| \begin{array}{l} {}_1(a_j; \alpha_j^{(1)}, \alpha_j^{(2)})_P : (1-s_1, 1), {}_1(c_j^{(1)}, \gamma_j^{(1)})_{p_1}; (1-s_2, 1), {}_1(c_j^{(2)}, \gamma_j^{(2)})_{p_2} \\ {}_1(b_j; \beta_j^{(1)}, \beta_j^{(2)})_Q : {}_1(d_j^{(1)}, \delta_j^{(1)})_{q_1}; {}_1(d_j^{(2)}, \delta_j^{(2)})_{q_2} \end{array} \right. \right] f(t),$$

then

$$\int_0^\infty \int_0^\infty z_1^{s_1-1} z_2^{s_2-1} H[z_1, z_2] (a_1 z_1 + a_2 z_2 + c)^{-1} f(a_1 z_1 + a_2 z_2 + c) dz_1 dz_2 = \frac{\psi(c)}{c}. \quad (2.5)$$

Provided

$$\text{Min} \left\{ \text{Re} \left(s_i + \frac{d_j^{(i)}}{\delta_j^{(i)}} \right) \right\} > 0, \quad j = 1, 2, \dots, m_i; i = 1, 2.$$

$|\arg(z_i)| < \frac{1}{2}\pi\Delta'_i$, where

$$\Delta_i = - \sum_{j=n_i+1}^P \alpha_j^{(i)} - \sum_{j=1}^Q \beta_j^{(i)} + \sum_{j=1}^{m_i} \delta_j^{(i)} - \sum_{j=m_i+1}^{q_i} \delta_j^{(i)} + \sum_{j=1}^{n_i} \gamma_j^{(i)} - \sum_{j=n_i+1}^{p_i} \gamma_j^{(i)} > 0.$$

$$\Psi_i = \sum_{j=1}^P \alpha_j^{(i)} - \sum_{j=1}^Q \beta_j^{(i)} + \sum_{j=1}^{p_i} \gamma_j^{(i)} - \sum_{j=1}^{m_i} \delta_j^{(i)} \leq 0, i = 1, 2.$$

$\text{Min}\{\text{Re}(a_1), \text{Re}(a_2), \dots, \text{Re}(c)\} > 0$.

References

- [1] Joshi N., Double integrals involving the H-function, Ganitha, 39 (1988).
- [2] Prasanth P. and Vasudevan Nambisan T. M., r-integrals involving the H-function of several variables, Applied Science Periodical, X(2) (May 2008), 102-105.
- [3] Prathima J., Vasudevan Nambisan T. M. and Shantha Kumari K., A study of I-function of several Complex Variables, International Journal of Engineering Mathematics, Volume 2014, Article ID 931395, <http://dx.doi.org/10.1155/2014/931395> (January 2014).
- [4] Shahul Hameed K. P., Investigations in Generalized Hypergeometric Functions, PhD Thesis, Kannur University (2009).
- [5] Shantha Kumari K., Investigations in I-functions of Two and Several Complex Variables, PhD Thesis, Sri Chandrashekarendra Saraswathi Viswa Maha Vidyalaya, Kanchipuram, (2014).
- [6] Srivastava H. M., Gupta K. C. and Goyal S. P., The H-functions of One variable and Two variables with Applications, South Asian Publications, New Delhi, (1982).